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QUESTION 1
You want to share detailed benefits data from Workforce with Financials.
Which statement describes the steps you must take? Choose the best answer.

A. Enable and configure Financials, and Workforce. When enabling Workforce, create a custom Benefits dimension to
map the data to. Then for the Financial Statement Integration data map, synchronize and push the data.

B. Enable and configure Financials and Workforce. Then in the Workforce Benefits and Taxes wizard, select a financial
account to map the benefit to. For Compensation Data, synchronize and run the data map.

C. Enable and configure Financials, and Workforce. When enabling Financials, create a custom Benefits dimension to
map the data to. On the Financials Integration Summary form, run Calculate Compensation to update the Workforce
data.

D. Enable and configure Financials, and Workforce. Then to capture Workforce expenses for employees, enable
Standard Rates from Workforce. For the Compensation Data for Reporting data map, synchronize then push the data.

Correct Answer: D

QUESTION 2

Which three describe what you can do with Valid Intersections? (Choose three.)

A. specify that certain programs are valid only for some periods or departments.

B. restrict cells containing invalid data, setting them to a read-only state within forms.

C. filter cell intersections to users when they enter data or select runtime prompts

D. prevent the user from executing any type of Calculation Manager rule that uses runtime prompts
E. allow all users to select from a non-filtered list of members on the form\\'s point of view

Correct Answer: ACE

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-cloud/pfusa/val_comb.html

QUESTION 3
Which option is true when implementing access permissions in Planning? (Choose the best answer.)
A. Users and groups are restricted from accessing applications by removing custom application and plan-type security

B. A member that is set to read that has a parent with write access to all descendants will result in an access level of
read

C. Planning roles can be assigned to members in all dimensions in all modules in the application

Correct Answer: B
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QUESTION 4
When setting up a data map, which two options are available for handling unmapped dimensions? (Choose two.)

A. Selecting a single unmapped dimension member on the source to map to multiple unmapped dimension members on
the target

B. Selecting multiple unmapped dimension members on the source to map to multiple unmapped dimension members
on the target

C. Selecting multiple unmapped dimension members on the source to map to a single unmapped dimension member on
the target

D. Selecting a single unmapped dimension member on the source to map to a single unmapped dimension member on
the target

Correct Answer: CD

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-
cloud/pfusa/mapping_unmapped_dimensions.html

QUESTION 5

A company has enabled Financials and now would like to make changes to the initial configuration. Which three
changes can be made? (Choose three.)

A. Enabling Expense

B. Enabling Income Statement

C. Disabling already enabled features
D. Adding custom dimensions

E. Enabling Rolling Forecast

F. Removing custom dimensions
Correct Answer: ABE

Reference: https://docs.oracle.com/en/cloud/saas/planning-budgeting-
cloud/epbca/fin_enabling_financials_features_110xdb25742f.html
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